For each pair, circle the statement that best describes the situation then explain why.


Statement that best describes the situation:		Why?
Variability is about spread away from the center.  The plots have a different center, but the spread around the center is the same.

A has more variability than BPair 1

B has more variability than A
Both graphs are equally variable


Statement that best describes the situation:		Why?
Plot A has a uniform distribution which causes the outer data points to be spread farther from the center.  Plot B has more data points near the center, thus having less spread.

A has more variability than BPair 2

B has more variability than A
Both graphs are equally variable


Statement that best describes the situation:		Why?[bookmark: _GoBack]The 2 plots seem to be inverses of each other.  This often causes people to believe their variability is equal.  However, since we are looking at the spread from the center, the data points in plot B have a high frequency on the outer edges, making for a larger variability.


A has more variability than BPair 3

B has more variability than A
Both graphs are equally variable

	
Statement that best describes the situation:		Why?
Plot B slowly increase to the right, but this makes the plot left-skewed and affects the center, causing a bigger spread.  Plot A has its largest number of data points near the center, thus having less impact on the variability.

A has more variability than BPair 4

B has more variability than A
Both graphs are equally variable
	
